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o v 7 o vov = F L v mgl 0.001 A7 0.001 il 0.001 i 0.001 il
20 |} v i ¥l mg/L 0.001 A5 0.001 A5 0.001 A5 0.001 ¥
21 ¥ F# f2  mg/L — — — —
22 7 = =: iz f2l  mg/L — — — —
231V = = A JL Al mg/L — — — —
24 |2 = = g M|  me/L — — — —
%l 7 v = 7 v v X % | mg/L — — — —
26 |2 ES f2[  mg/L — — — —
otle vy N w2 x| mg/L — — — —
28 |k U 7 = =: E f2[  mg/L — — — —
2917 v ® ¥ /7 v v A X | mg/L — — — —
30 |7 = * N JL Al mg/L — — — —
31 » 5 7T o T [ R mg/L — — — —
2 H K O F o A& W mg/lL 0.05 A i 0.05 A i 0.14 0.05A i
Bl A=y sk BE O E W mg/lL 0.10 0.04 0.26 0.02
Ml X v 2 o A& B meg/L 0.08 0.03 A3 0.20 0.04
Bl X v F o A& B meg/L 0.05 A3 0.05A i 0.05A i 0.05 A3
6l FU Y A R E DAL A | me/L 8.9 8.5 8.4 12
37|~ » 7 v Kk O ot A B mg/L 0.059 0.005 A3 0.280 0.005 A3
38 & b ) A 7 | mg/L 5.7 5.7 5.4 6.9
9P rv v a, v 7 kv % (@ E) mg/L 18 25 32 39
40 |7 % % £ ¥ mg/L 62 65 80 108
412 4 A& » R m & % A meg/L 0.02 A5 0.02A i 0.02A i 0.02 A3
42 | - + 2 3 | mg/L 0.000001 0.000001 K4 0.000002 0.000001 A
2Bl —AF 4V R L xF — | meg/lL 0.000001 0.000001 A1 0.000003 0.000001 A
4B 4 A v R om & M A meg/L 0.005 A 0.005 A5 0.005 A5 0.005 A
45 |7 = J — L | mg/L 0.0005 A 0.0005 i 0.0005A3ifi 0.0005Aif
615 B w ( TOC © & )| mg/L 2.6 0.6 2.0 0.3
47 lo H it 7.0 6.5 6.5 6.4
48 Ik — — — —
49 | &= & e L BTl H R FLEIRL
50 |4 i3 i3 7 1Al 12 1A
51 | g g 3.2 0.2 1.7 0.2
B K H H 6H20H 6H20H 3HI12H 3HI12H
K W (& = oA ) T g s &g
oK M ¥ ;| 100mLH? 0 0 0 0




